

Lead • Partner • Innovate • Excel

May 11, 2023

To: Vendors for Motor Oil and Lubricants IFB 23-04-008

RE: Bid Results

The following bid analysis sheets show the prices that were bid for Motor Oil and Lubricants for Madison-Oneida BOCES and its participating districts. This bid was awarded on a total award basis as highlighted in green. Items highlighted in red have been disqualified.

This bid was approved by the Madison-Oneida BOCES Board of Education at their monthly meeting on May 10, 2023.

This letter does not constitute an order. Receipt of a valid school district purchase order will be notification of an order.

Thank you for your continued support and participation in our bidding program.

Sincerely,

Madison-Oneida BOCES Cooperative Bidding Service

Chui Spratie

4937 Spring Road • P.O. Box 168 • Verona, NY 13478-0168 • 315.361.5500 • www.moboces.org

# Bids Were Received From the Following Vendors For Motor Oil and Lubricants IFB 23-04-008

## **Brenntag Lubricants, LLC**

Attention: Michael Kumpulanian 1604 Goffs Falls Rd

Manchester, NH 03103 Phone: 603-222-2900

Fax: NA

Email: blnebids@brenntag.com

Website: www.brenntaglubricantsne.com

Note: Reject entire bid due to proposed exceptions to bid terms not accepted

#### R.H. Crown Co. Inc.

Attention: Rick Reynolds 100 North Market Street Johnstown, NY 12095 Phone: 518-762-4589 Fax: 518-762-4478

Email: jrjkp@yahoo.com Website: www.rhcrown.com

Details: Please Reference Madison-Oneida BOCES IFB 23-04-008 on Purchase Order

## **Superior Lubricants**

Attention: John J. Hardy 6485 Ridings Rd Syracuse, NY 13206 Phone: 315-701-0012 Fax: 315-701-0142

Email: <u>jhardy@superiorlubricants.com</u> Website: www.superiorlubricants.com

Details: Please Reference Madison-Oneida BOCES IFB 23-04-008 on Purchase Order

Vendor	Items on Bid	Items Bid	Percentage	Total
Superior Lubricants	21	19	90.48%	\$42,878.96
R. H. Crown Co., Inc.	21	21	100.00%	\$47,056.62

# Superior Lubricants

							Jup	erior Lub	nicants			
Item #	Category	Item Specification	Quantity	Unit	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit of Measure	Unit	Unit Price	Extension
31001	Antifreeze	Antifreeze, Premix 50/50, MV ELC, Non-Recycled, 55 Gallon Drum	3	Drum	PEAK GLOBAL	PXAW51D	55 GALLON	\$416.75	Gallon	55	\$7.5773	\$1,250.25
31002	Antifreeze	Antifreeze, Premix 50/50, Dex-Cool, Non-Recycled, 55 Gallon Drum	2	Drum	PEAK COOL	PRAL51	55 GALLON	\$443.85	Gallon	55	\$8.0700	\$887.70
31004	Antifreeze	Antifreeze, Premix 50/50, MV ELC, Non-Recycled, 6 Gallon/Case	7	Case	PEAK GLOBAL	PXA053	6/1 GALLON	\$48.81	Gallon	6	\$8.1350	\$341.67
31005	Antifreeze	Antifreeze, ELC International Spec (Nav B 1-3 or Cat EC-1), Red, 50/50 Premix, Non-Recycled, 55 Gallon Drum	1	Drum	PEAK FINAL CHARGE	FXAW51	55 GALLON	\$459.47	Gallon	55	\$8.3540	\$459.47
31006	Antifreeze	Antifreeze, ELC International Spec (Nav B 1-3 or Cat EC-1), Red, 50/50 Premix, Non-Recycled, 6 Gallon/Case	4	Case	PEAK FINAL CHARGE	FXA043	6/1 GALLON	\$63.20	Gallon	6	\$10.5333	\$252.80
31020	Antifreeze	Antifreeze, Premix, Gallon 50/50, Dex-Cool, Non- Recycled, 6 Gallon/Case	3	Case	PEAK COOL	PRAL53	6/1 GALLON	\$48.79	Gallon	6	\$8.1317	\$146.37
31025	Antifreeze	Antifreeze, Premix 50/50, Purus Cummins Spec., Non- Recycled, 55 Gallon Drum	2	Drum	PEAK FINAL CHARGE	FXAW51	55 GALLON	\$459.47	Gallon	55	\$8.3540	\$918.94
31026	Antifreeze	Antifreeze, Premix 50/50, Purus Cummins Spec., Non- Recycled, 6 Gallon Case	5	Case	PEAK FINAL CHARGE	FXA043	6/1 GALLON	\$63.20	Gallon	6	\$10.5333	\$316.00
31007	Gear Lube	Lube, Gear, 80W90, Must Meet API Specifications For GL5, Non-Recycled, 120 lb Drum	2	Drum	GULF	332105KG	120 LB KEG	\$317.55	Pound	120	\$2.6463	\$635.10
31011	Grease	Grease, Wheel Bearing, Multi-Purpose, Non-Recycled, 35  Ib Pail	1	Pail	GULF	344012P	35 LB PAIL	\$141.39	Pound	35	\$4.0397	\$141.39
31012	Grease	Grease, Wheel Bearing, Multi-Purpose, Non-Recycled, 14 oz/Tube, 10 Tubes/Case	6	Case	GULF	344012C	10/14 OZ TUBE	\$41.50	Ounce	140	\$0.2964	\$249.00
31013	Hydraulic Oil	Oil, Hydraulic, Multi-Purpose, 20W, 55 Gallon Drum, ISO AW 46 HYD, Non-Recycled, 55 Gallon Drum	4	Drum	GULF	334229D	55 GALLON	\$541.85	Gallon	55	\$9.8518	\$2,167.40
31010	Motor Oil	Oil, Motor, 15W40, Must Meet CJ-4 Spec. for Caterpillar, Cummins and International, Non-Recycled, Bulk Gallon	1165	Gallon	Maximun Performance	0223300B	1 GALLON	\$11.55	Gallon	1	\$11.5500	\$13,455.75
31017	Motor Oil	Oil, Motor, 15W40, Must Meet CJ-4 Spec. for Caterpillar, Cummins and International, Non-Recycled, 12 Quarts/Case	14	Case	GULF	331307C	12/1QT	\$55.77	Quart	12	\$4.6475	\$780.78
31018	Motor Oil	Oil, Motor, 15W40, Must Meet CJ-4 Spec. for Caterpillar, Cummins and International, Non-Recycled, 55 Gallon Drum	1	Drum	Maximun Performance	0223300D	55 GALLON	\$695.80	Gallon	55	\$12.6509	\$695.80
31019	Motor Oil	Oil, Motor, 5W30, Must Meet API Spec. For SN and ILSAC GF5, Non-Recycled, 55 Gallon Drum	4	Drum	GULF	330133D	55 GALLON	\$579.15	Gallon	55	\$10.5300	\$2,316.60
31027	Motor Oil	Oil, Motor, Dexos 2 Long Life Synthetic 5w30. Must meet ACEA C3 specs - Bulk Gallon	480	Gallon							\$24.4000	\$11,712.00
31028	Motor Oil	Oil, Motor, Dexos 2 Long Life Synthetic 5w30. Must meet ACEA C3 specs - 12 quart/case	14	Case							\$5.3167	\$893.20
31022	Transmission Fluid	Fluid, Transmission, ATF, DEX/MER III, Must Meet All Spec. For: GM Dexron-III/IIE, Ford Mercon, Ford M2C138- CJ, Ford M2C166-H, Caterpillar T0-Z and Allison C4, Non- Recycled, 12 Quarts/Case		Case	GULF	332022C	12/1 QT	\$45.49	Quart	12	\$3.7908	\$545.88

# **Superior Lubricants**

Item #	Category	Item Specification	Quantity	Unit	Manufacturer	Vendor Item #	Package	Price Bid	Unit of	Unit	Unit Price	Extension
							Size		Measure			
31023	Transmission	Fluid, Transmission, ATF, DEX/MER III, Must Meet All	4	Drum	GULF	332022D	55 GALLON	\$628.45	Gallon	55	\$11.4264	\$2,513.80
	Fluid	Spec. For: GM Dexron-III/IIE, Ford Mercon, Ford M2C138-										
		CJ, Ford M2C166-H, Caterpillar T0-Z and Allison C4, Non-										
		Recycled, 55 Gallon Drum										
31029	Transmission	Fluid, Transmission Heavy Duty Synthetic. Ust meet all	2	Drum	GULF	330025D	55 GALLON	\$1,099.53	Gallon	55	\$19.9915	\$2,199.06
	Fluid	specs for Dexron IIIH, IIIG, Mercon, Mercon V, Chrysler										
		ATFs, Sunoco Full Synthetic Heavy Duty ATV or equal, 55										
		gallon drum										

\$42,878.96

# R. H. Crown, Co., Inc.

	K. H. Glowii, Co., inc.											
Item #	Category	Item Specification	Quantity	Unit	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit of Measure	Unit	Unit Price	Extension
31001	Antifreeze	Antifreeze, Premix 50/50, MV ELC, Non-Recycled, 55 Gallon Drum	3	Drum	SERVICE PRO	12COMP50505 5	55 GAL	\$385.78	Gallon	55	\$7.0142	\$1,157.34
31002	Antifreeze	Antifreeze, Premix 50/50, Dex-Cool, Non-Recycled, 55 Gallon Drum	2	Drum	SERVICE PRO	12SPDEXC505 055	55 GAL	\$409.36	Gallon	55	\$7.4429	\$818.72
31004	Antifreeze	Antifreeze, Premix 50/50, MV ELC, Non-Recycled, 6 Gallon/Case	7	Case	SERVICE PRO	12COMP50500 6	6X1GAL	\$35.57	Gallon	6	\$5.9283	\$248.99
31005	Antifreeze	Antifreeze, ELC International Spec (Nav B 1-3 or Cat EC-1), Red, 50/50 Premix, Non-Recycled, 55 Gallon Drum	1	Drum	PRESTONE	12PRCOMNF5 05055	55 GAL	\$529.69	Gallon	55	\$9.6307	\$529.69
31006	Antifreeze	Antifreeze, ELC International Spec (Nav B 1-3 or Cat EC-1), Red, 50/50 Premix, Non-Recycled, 6 Gallon/Case	4	Case	PRESTONE	12PRCOMNF5 05006	6X1GAL	\$54.73	Gallon	6	\$9.1217	\$218.92
31020	Antifreeze	Antifreeze, Premix, Gallon 50/50, Dex-Cool, Non- Recycled, 6 Gallon/Case	3	Case	SERVICE PRO	12SPDEXC505 006	6X1GAL	\$46.12	Gallon	6	\$7.6867	\$138.36
31025	Antifreeze	Antifreeze, Premix 50/50, Purus Cummins Spec., Non- Recycled, 55 Gallon Drum	2	Drum	PRESTONE	12PRCOMNF5 05055	55 GAL	\$529.69	Gallon	55	\$9.6307	\$1,059.38
31026	Antifreeze	Antifreeze, Premix 50/50, Purus Cummins Spec., Non- Recycled, 6 Gallon Case	5	Case	PRESTONE	12PRCOMNF5 05006	6X1GAL	\$54.73	Gallon	6	\$9.1217	\$273.65
31007	Gear Lube	Lube, Gear, 80W90, Must Meet API Specifications For GL5, Non-Recycled, 120 lb Drum	2	Drum	SERVICE PRO	17809016	120 LB	\$355.73	Pound	120	\$2.9644	\$711.46
31011	Grease	Grease, Wheel Bearing, Multi-Purpose, Non-Recycled, 35  Ib Pail	1	Pail	SERVICE PRO	17HTGREASE0 5	35LB	\$151.77	Pound	35	\$4.3363	\$151.77
31012	Grease	Grease, Wheel Bearing, Multi-Purpose, Non-Recycled, 14 oz/Tube, 10 Tubes/Case	6	Case	SERVICE PRO	17HTGREASE	10/TUBES	\$44.78	Ounce	140	\$0.3199	\$268.68
31013	Hydraulic Oil	Oil, Hydraulic, Multi-Purpose, 20W, 55 Gallon Drum, ISO AW 46 HYD, Non-Recycled, 55 Gallon Drum	4	Drum	SERVICE PRO	17AW4655	55 GAL	\$578.43	Gallon	55	\$10.5169	\$2,313.72
31010	Motor Oil	Oil, Motor, 15W40, Must Meet CJ-4 Spec. for Caterpillar, Cummins and International, Non-Recycled, Bulk Gallon	1165	Gallon	SERVICE PRO	17B1540SB	GAL	\$12.95	Gallon	1	\$12.9500	\$15,086.75
31017	Motor Oil	Oil, Motor, 15W40, Must Meet CJ-4 Spec. for Caterpillar, Cummins and International, Non-Recycled, 12 Quarts/Case	14	Case	SERVICE PRO	17154006SB	12/QTS	\$56.60	Quart	12	\$4.7167	\$792.40
31018	Motor Oil	Oil, Motor, 15W40, Must Meet CJ-4 Spec. for Caterpillar, Cummins and International, Non-Recycled, 55 Gallon Drum	1	Drum	SERVICE PRO	17154055SB	55 GAL	\$799.95	Gallon	55	\$14.5445	\$799.95
31019	Motor Oil	Oil, Motor, 5W30, Must Meet API Spec. For SN and ILSAC GF5, Non-Recycled, 55 Gallon Drum	4	Drum	SERVICE PRO	1753055	55 GAL	\$617.72	Gallon	55	\$11.2313	\$2,470.88
31027	Motor Oil	Oil, Motor, Dexos 2 Long Life Synthetic 5w30. Must meet ACEA C3 specs - Bulk Gallon	480	Gallon	SERVICE PRO	17B530EUROD	GAL	\$24.40	Gallon	1	\$24.4000	\$11,712.00
31028	Motor Oil	Oil, Motor, Dexos 2 Long Life Synthetic 5w30. Must meet ACEA C3 specs - 12 quart/case	14	Case	SERVICE PRO	17530EUROD0 6	12 QTS	\$63.80	Quart	12	\$5.3167	\$893.20
31022	Transmission Fluid	Fluid, Transmission, ATF, DEX/MER III, Must Meet All Spec. For: GM Dexron-III/IIE, Ford Mercon, Ford M2C138- CJ, Ford M2C166-H, Caterpillar T0-Z and Allison C4, Non- Recycled, 12 Quarts/Case	12	Case	SERVICE PRO	17ATF06	12 QTS	\$53.48	Quart	12	\$4.4567	\$641.76

# R. H. Crown, Co., Inc.

Item #	Category	Item Specification	Quantity	Unit	Manufacturer	Vendor Item #	Package	Price Bid	Unit of	Unit	Unit Price	Extension
							Size		Measure			
31023	Transmission	Fluid, Transmission, ATF, DEX/MER III, Must Meet All	4	Drum	SERVICE	17ATF55	55 GAL	\$709.64	Gallon	55	\$12.9025	\$2,838.56
	Fluid	Spec. For: GM Dexron-III/IIE, Ford Mercon, Ford M2C138-			PRO							
		CJ, Ford M2C166-H, Caterpillar T0-Z and Allison C4, Non-										
		Recycled, 55 Gallon Drum										
31029	Transmission	Fluid, Transmission Heavy Duty Synthetic. Ust meet all	2	Drum	PURUS	17PSATF55	55 GAL	\$1,965.22	Gallon	55	\$35.7313	\$3,930.44
	Fluid	specs for Dexron IIIH, IIIG, Mercon, Mercon V, Chrysler										
		ATFs, Sunoco Full Synthetic Heavy Duty ATV or equal, 55										
		gallon drum										

\$47,056.62